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SN AREE
M ZRAME O JIX EDSH =l Lo/ - AE)
Chelr MEIE ASSt EER=E)
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
< 33,140
403 MR EHMSAHE01H 77,327 173,250 195,923
= 44,187
= 33,140
01 AXIEHM A= E £ 77,327 173,250 N95,923
ogtte #3JI8txY 77,327
= 44,187
= 33,140
Rt AMS THHHZ2(2 1) 120,322 106,492 13,830
= 99,089
S 21,233
403 AXIEHMSAH=0ld 120,322 106,492 13,830
= 99,089
& 21,233
01 AXIHHA=2E2E 120,322 106,492 13,830
OzIEF o= T2l 120,322
= 99,089
= 21,233
AHASUMST (1) 1,316,394 1,772,155 A455,761
= 774,8%4
= 541,540
403 MR SHHMSAH=01H 1,316,394 1,772,155 A455,761
= 774,854
< 541,540
01 MHXIHHA =22 1,316,394 1,772,185 A455,761
OME XS =4 1,316,3%4
= 774,854
= 541,540
AESEISFHI(=1) 100,880 427,314 N326,434
= 57,646
= 43,234
403 X SHMSAH=01H 100,880 427,314 A\326,434
= 57,646
== 43,234
01 AXISHHA 22 £ 100,880 427,314 N326,434
Ooutg =838 &4 100,880
= 57,646
< 43,234
otE MADIBIEA(=1) 428,463 139,650 288,813
= 244,836
= 183,627
403 AXIEHHSA=201H 428,463 139,650 288,813
= 244,836
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SN AREE
M ASAARO| JIE| FDSH(SRHLSA/AY - AE
Chelr MEIE ASSt EER=E)
SN - ZB - C9(B) - MRAMY - BES ol by e HlmS2
= 750,000
= 225,000
403 XX SHHSKHE01 A 975,000 975,000 0
= 750,000
= 225,000
01 ARt AH22 £ 975,000 975,000 0
OSMESEZAl LAY 975,000
= 750,000
= 225,000
MESTHEHAH ZHEAE(=1) 2,043,600 5,278,000 A3,234,400
= 1,572,000
& 471,600
403 XX SHHSKH=01A 2,043,600 5,278,000 A3,234,400
= 1,572,000
= 471,600
01 MXIStH 22 £ 2,043,600 5,278,000 23,234,400
Ot SN2 AH &AM 2,043,600
= 1,572,000
= 471,600
SMHHE SACS X(=2) 18,369 0 18,369
= 14,130
& 4,239
308 AXIHMISO0I& 18,369 0 18,369
= 14,130
& 4,239
01 AXIEHBAExS 18,369 0 18,369
O=SMHS SEH= 18,369
= 14,130
= 4,239
SNHHE SEH=(2E)(=21) 5,740 0 5,740
= 2,870
& 2,870
202 04d| 5,740 0 5,740
= 2,870
& 2,870
01 =WOdbI 5,740 0 5,740
O=SNHZ SEH= 5,740
= 2,870
= 2,870
SUST SEAF AHAIH(S1) 2,600,000 2,600,000 0
s 2,000,000
= 600,000
403 XX SHHSA=01H 2,600,000 2,600,000 0
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SN PP
M ZRAME O JIX EDSH =l Lo/ - AE)
el AERE ASE (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 2,000,000
=S 600,000
01 XIS A =22 & 2,600,000 2,600,000 0
O=4=M S£AF oA 2,600,000
= 2,000,000
< 600,000
AFHBIOI 200 A K+ S 70,000 0 70,000
308 AHAIEMSOIE 70,000 0 70,000
01 HAHHBSExXS 70,000 0 70,000
O HI0I20HA X+ &t 70,000
SIHOISIISXI S (HEAIY) 4,247,000 5,059,380 A812,380
403 TR SHMSAH=01H 4,247,000 5,059,380 A812,380
01 AR A =2 £ 4,247,000 5,059,380 A812,380
OF SHIMEE Td(HE) 258,000
O=d SH2MEY Td(HE) 1,000,000
oZd SMHIMEE T (HE) 2,000,000
Ol SM2StHEE T (HE) 989,000
LAare ZAXNFANESAIE(Z1) 100,270 5,384,182 N5,283,912
= 100,270
308 AXIHSOIA 100,270 95,955 4,315
= 100,270
01 XN BELES 100,270 95,955 4,315
OSAMTFHMES At 2el 100,270
= 100,270
GE23 - 5 HE 6,395,195 8,583,113 A2,187,918
= 786,520
Il 424,000
= 5,184,675
MEESS2AE Zd2el 10,500 9,400 1,100
201 =3 2,000 1,400 600
01 AtR2t2l] 2,000 1,400 600
O8ALEI =5 & BEEE 7Y S 2,000
202 04l 8,500 8,000 500
01 2LHoIH 8,500 8,000 500
OLIEE3IF AL Tdae| HRFA 8,500
SOtEHEE D42l (HEAtd) 9,200 9,200
403 MR HHMSAHE01H 96,200 96,200
01 MXIHH A 222 96,200 96,200
OFd ROt=ME T () 96,200
AQQHE =MZ2 TH(2D) 424,000 509,000 85,000
Jl 424,000
403 AXIEHMSAH=0ld 424,000 509,000 85,000
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2A:

LT r AR - ahE
el MEEY 72 FE (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
5] 424,000
01 MM =S E 424,000 509,000 85,000
ORFMLISY =4 424,000
| 424,000
SE=TATR 2H(HEME) 589,631 518,649 70,982
308 XXIEHHIS01® 589,631 518,649 70,982
Of KX SHBAEES 569,631 518,649 70,982
O=MEHBRI (R E) 108, 185
O%USHRITAHTE) 221,111
CEINEETEIETESED 221,112
O3t D= ACILI0IE (M) 44,223
sE=gne 2¥(=1) 40,324 39,780 544
2 23,720
= 16,604
308 XXIEHHISOI A 40,324 30,780 544
2 23,720
= 16,604
O HXSHTAZES 40,324 39,780 544
©4=2ADCIHI0IE 40,324
2 23,720
= 16,604
ol 2d(32) 489,000 523,614 A\64,614
2 270,000
= 189,000
308 XXIEHHISO0I& 459,000 523,614 £64,614
2 270,000
= 189,000
Of IXESHBA2ES 459,000 523,614 764,614
CELER 459,000
2 270,000
= 189,000
R0=DS 29(22) 561,000 623,350 262,350
2 330,000
= 231,000
308 XXIEHHISOIH 561,000 623,350 £62,350
2 330,000
= 231,000
Of HXSHBAEES 561,000 623,350 262,350
R0EDE 2 561,000
2 330,000
< 231,000
QIR 2Y(2D) 146,200 163,200 A17,000
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SN AREE
M ZRAMEC JIX HDSH =l La/Y - AE
Rl dEH sME2t Y (Gt &2l
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 3,800,000
Jl 1,000,000
= 3,391,000
NXHEAl = 28 (HEAIY) 1,926,000 2,493,000 567,000
403 AXIEHHSAH=201d 1,926,000 2,493,000 567,000
01 AXIEHM A= 2 £ 1,926,000 2,493,000 A567,000
O=MHT=(HE) 650,000
oug 3 (&) 123,000
odzgeI=(Me) 130,000
OgEt2(HE) 292,000
O¥SIH2=(HE) 130,000
OttexZ=(dg) 601,000
JIEHE A= =4(2D1) 1,300,000 195,000 1,105,000
Jl 1,000,000
< 300,000
403 MR HHMSAHE01H 1,300,000 195,000 1,105,000
) 1,000,000
< 300,000
01 A= 2L 1,300,000 195,000 1,105,000
OJI=UE EA= 24 1,300,000
Jl 1,000,000
= 300,000
CAHtEZE 24(=1) 4,810,000 3,640,000 1,170,000
s 3,700,000
= 1,110,000
403 MR SHHMSAH=01H 4,810,000 3,640,000 1,170,000
= 3,700,000
< 1,110,000
01 A= 2L 4,810,000 3,640,000 1,170,000
OZAlbtzd= &4 4,810,000
[ 3,700,000
S 1,110,000
Ak gl 2&(21) 130,000 260,000 130,000
= 100,000
= 30,000
403 TR SHHMSAH=01H 130,000 260,000 A130,000
s 100,000
s 30,000
01 A= 2L 130,000 260,000 130,000
OXt4oty iz &4 130,000
= 100,000
[ 30,000
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2A:

I %*%&%,I O ZDsH sl o/ Y - A
Rl dEH sME2t Y (Gt &2l
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
RIstxg2el(20) 65,000 0 65,000
= 50,000
== 15,000
403 MR HHMSAH=01H 65,000 0 65,000
= 50,000
< 15,000
01 MHXIHH A 222 65,000 0 65,000
OfRzzsdt =4 65,000
= 50,000
= 15,000
2 24 - 22l 10,000 25,000 15,000
403 NHXISHMSAH=01H 10,000 25,000 A15,000
01 XIS A =2 £ 10,000 25,000 15,000
0gd Agz 43 2+ &4 10,000
BaESE 22U =d 45,438,785 58,033,885 12,595,100
= 33,832,790
7l 1,057,680
= 10,548,315
AENEZ20F 2E - 2l = 12,900 5,000 7,900
201 er23 | 10,400 2,000 8,400
01 At2teltl 10,400 2,000 8,400
OLHETHAZ0F A X3S & HEANLD
LSS 10,400
202 048l 2,500 3,000 2500
01 2L A b 2,500 3,000 A500
OLEHAZ20F & N=HA 2,500
AMSUMA XS 8,500 7,700 800
201 2egr=3| 5,500 5,000 500
03 A2 I 5,500 5,000 500
OA=ddA 28 2278 S 5,500
301 LEtE N = 3,000 2,700 300
11 dAMEEIXIE S 3,000 2,700 300
OASLAL B B4 S 3,000
LR AILSUEH=1) 100,971 0 100,971
= 77,670
= 23,301
403 AXIEHMSAH=201H 100,971 0 100,971
= 77,670
= 23,301
01 AXIEHM A= 2 £ 100,971 0 100,971
O2ZAIE B3t 100,971
= 77,670
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SN ARZY
I YRARIO JIX| FH D (SRIHYSA/UY - A&
el BASad 2 XY EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| & 23,301
FHEZS =X(2D) 3,028,551 4,456,162 1,427,611
2 3,028,551
202 O] 5,000 5,000 0
2 5,000
01 3LHo| 5,000 5,000 0
OXEAY =X NS S 5,000
2 5,000
206 T2 3,023,551 4,451,162 1,427,611
2 3,023,551
01 T2t 3,023,551 4,451,162 1,427,611
2E7Y S 3,023,551
2 3,023,551
ZHExE X (=21) 3,083,156 3,582,378 N499,222
2 2,292,414
=3 790,742
403 REXISHH S X201 & 3,083,156 3,582,378 N499,222
2 2,292,414
== 790,742
01 XX SR EEE 3,083,156 3,582,378 N4, 222
CENEESS 3,083,156
2 2,292,414
=5 790,742
Zuezg F=(=1) 491,664 1,164,697 673,033
= 491,664
206 T2 491,664 1,164,697 £673,033
2 491,664
01 XH=Hl 491,664 1,164,697 ~673,033
o0Rs7Y 491,664
2 491,664
202xe XA(31) 1,331,5% 1,373,053 8.543
2 91,529
=3 430,067
403 REXISHH S X201 & 1,381,506 1,873,053 8,543
2 91,529
= 430,067
01 XIS R2EE 1,331,5% 1,373,053 8.543
ozu=xg 1,381,596
2 951,529
=5 430,067
XHSsixe £(21) 200,841 247,648 46,807
2 200,841
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SA ARE
M QRAAO| JpX F DS SN SA/AY - A=
el BASad 2 XY EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
206 M2 200,841 247,648 46,807
2 200,841
01 W2l 200,841 247,648 46,807
OXIHESZTY F& 200,841
= 200,841
XHE35x2 NA(2D) 53,730 793,093 256,363
= 371,233
== 165,497
403 REXISHHI SXH20I & 53,730 793,093 256,363
= 371,233
= 165,497
01 XX S22 = 536,730 793,093 256,363
OXIHESZY X 536,730
2 371,233
= 165,497
L2t =4 F=2(21) 87,063 169,619 A82,556
= 87,063
206 M2 4| 87,063 169,619 A82,556
2 87,063
01 W2l 87,063 169,619 A82,556
P23y S 87,063
= 87,063
Wat+2ith =4 Xe(=22) 361,437 305,881 34,444
= 257,937
== 103,500
403 REXISHHI SKH20I & 361,437 395,881 N34, 444
= 257,937
= 103,500
01 REXISHHIRHE 2 = 361,437 395,881 34,444
OUst+-alth =4 361,437
2 257,937
= 103,500
HE A HZ S (21) 1,789,591 2,974,591 A 1,185,000
= 1,566,257
L= 233,334
403 XIXISHHISKH20I 1,789,591 2,974,591 1,185,000
= 1,566,257
== 233,334
01 RIXISHRIRHEE X 1,789,591 2,974,591 1,185,000
O T AR B HET 1,789,591
= 1,566,257
= 233,334
ME2THA =S7EE F2(22) 13,558 733,992 AT20,434
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SN AREE
M ASAARO| JIE| FDSH(SRHLSA/AY - AE
el BAsad 2l 2 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 13,558
206 M=l 13,558 733,992 AT20,434
= 13,558
01 MHZH| 13,558 733,992 AT20,434
OM=UIcHA =128 B3 13,558
= 13,558
ASTIGHAl 2228 XA(=1) 267,692 1,838,508 A1,5670,816
= 173,942
= 93,750
403 X SHHMSAH=01H 267,692 1,838,508 A1,570,816
= 173,942
[ 93,750
01 A= 2L 267,692 1,838,508 A1,5670,816
O&t=UlohAl =228 X 267,692
= 173,942
= 93,750
ST (21) 282,113 272,205 9,908
= 217,010
= 65,103
308 XXM SO0l 282,113 272,205 9,908
= 217,010
== 65,103
01 XN BSELS 282,113 272,205 9,908
OS2tk & 84 2cl 282,113
= 217,010
[ 65,103
e ST (ZD) 224,328 206,440 17,888
= 172,560
= 51,768
308 AFAIEHMSOIH 224,328 206,440 17,888
= 172,560
= 51,768
01 XN BELES 224,328 206,440 17,888
OzltE YL 224,328
= 172,560
== 51,768
AR FE(21) 5,000 5,000 0
= 2,500
= 2,500
202 04| 5,000 5,000 0
= 2,500
= 2,500
01 =LHO LI 5,000 5,000 0
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SN AREE
M ZRAMEC JIX HDSH =l La/Y - AE
el BASad 2 XY EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
O=IHIIMY =8 N=ES 5,000
= 2,500
== 2,500
M= X (22) 29,317,542 36,901,461 26,583,919
= 22,551,952
= 6,765,590
403 AXIEHHSAH=201H 29,317,542 356,901,461 6,583,919
= 22,551,952
= 6,765,590
01 AR A= 2 £ 29,317,542 35,901,461 26,583,919
OZFM=IIRI| XA 29,317,542
= 22,551,952
=S 6,765,590
SSLOPRI| X|(=22) 1,787,988 1,696,751 91,237
= 1,386,109
& 401,879
308 AHAIEHMSOIE 1,787,988 1,696,751 91,237
= 1,386,109
= 401,879
01 XN B EES 1,787,988 1,696,751 91,237
O3S 43I K& 1,787,988
= 1,386,109
= 401,879
38 oI(=1) 1,374,984 1,577,706 N202,722
Jl 1,057,680
< 317,304
403 MR HHMSAHE01H 1,374,984 1,577,706 N202,722
) 1,067,680
S 317,304
01 AXISHHA=2 22X 1,374,984 1,577,706 AN202,722
ORI 1,374,984
Il 1,067,680
= 317,304
LIRS ZH2F(HEAY) 640,000 602,000 38,000
403 X SHHMSAH=01H 640,000 602,000 38,000
01 AR A= 2 £ 640,000 602,000 38,000
0|F LRes (e 86,000
OYE 228 (Ha) 129,000
osd L2 (de) 86,000
O8H LIR28(Me) 86,000
ogd Ry (de) 43,000
OBFE U™ (e 38,000
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